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Appendix 7bis

Nondirected Alternation in Nahuatl: Intransitive and Transitive Verb Pairs

	Transitivity
	Verb form in present
	Translation
	Form of nondirected alternation

	Intrans.
	poliwi
	he gets lost

	-wi

	Trans.
	nik-polowa
	I lose it
	-wa

	Intrans.
	chi:chi:le:wi

chi:chi:liwi

	it reddens
	-wi

	Trans.
	nik-chi:chi:lowa
	I redden it
	-wa

	Intrans.
	toma:wi
	he gets fat
	-wi

	Trans.
	nik-toma:wa
	I fattens it
	-wa

	Intrans.
	itlakawi
	it spoils or rots (food)

it ceases to work (a machine)
	-wi

	Trans.
	nik-itlakowa
	I spoil it

I wreck it or make it not work
	-wa

	Intrans.
	se:wi
	it (e.g., a fire) goes out
	-wi

	Trans.
	nik-se:wia
	I put it (a fire) out
	-wia

	Intrans.
	koto:ni
	it snaps
	-ni

	Trans.
	nih-koto:na
	I snap it
	-na

	Intrans.
	kaxa:ni
	it (e.g. a knot) gets loose
	-ni

	Trans.
	nih-kaxa:nia
	I loosens it (a knot)
	-nia

	Intrans.
	on-aki

	it fits in
	-ki

	Trans.
	nik-akia
	I fit it in
	-kia

	Intrans.
	wa:ki
	it dries
	-ki

	Trans.
	nik-wa:tsa
	I dry it
	-tsa

	Intrans.
	kukwalaka
 (Am)

kwakwalaka (Oa)
	it makes a bubbling sound
	-ka

	Trans.
	nih-kukwalatsa (Am)

nih-kwakwalatsa (Oa)
	I make it give off a bubbling sound
	-tsa

	Intrans.
	totomi
	it gets untied
	-mi

	Trans.
	nik-totoma
	I untie it
	-ma

	Intrans.
	tlasoti (Am)

tlásotí (Oa)
	it is dear (i.e., scarce or worthy of being tenderly cared for)
	-ti


	Trans.
	nik-tlasotla (Am)
nih-tlásotlá (Oa)
	I love it
	-tla


* Occasionally their will be a “lexical gap” in the verb system. Usually verbs of the type listed in table 3.2 occur in pairs. However, sometimes one of the two verbs is not realized, though if this occurs it always seems to be the intransitive form that is nonexistent. Such a case is the verb mela:wa ‘to straighten’ or ‘to lay down.’ There is no intransitive *mela:wi. Thus whereas a transitive verb such as no:lowa ‘to make crooked’ has an intransitive no:liwi ‘to become crooked,’ (e.g. a stick or branch), mela:wa has no such intransitive cognate. To fill this lexical gap the reflexive marker is employed. Thus, a in describing a stick that becomes straight, a reflexive construction is used: nomela:wa ‘it becomes straight.’ A similar lexical gap occurs with tsakwa ‘to close (trans.). There is no form *tsakwi ‘to close (intrans.)’ (as in ‘the door closed’). Again, the reflexive marker is used to fill the lexical gap and create an intransitive (e.g., notsakwas ka:n o:timotek ‘the place (wound) where you cut yourself will close’). Note, therefore that whereas ‘to open’ has a pair of verbs tlapo:wi and tlapowa (intransitive and transitive, respectively),  the parallel forms for ‘to close’ are notsakwa and tsakwa, given the absence of an intransitive. Semantically, tlapo:wi : tlapowa :: notsakwa : tsakwa.

   �. Not included in this table are various alternations that related to denominal verbs. The first is of the form sokiyowa ‘to get covered with mud’ and sokiyo:tia ‘to cover with mud’, which exemplifies the �yowa ~ �yo:tia alternation (here on the nominal stem soki ‘mud’). The second is of the form xoko:ya ‘to become sour’ and xoko:lia ‘to make sour’, which exemplifies the �ya ~ �lia alternation (here on the nominal stem xoko ‘plum’).


   �. Nahuatl does not distinguish the gender of subjects or objects. In these lessons the male pronoun he (him) will be used.


   �. The -e:wi ~ -iwi alternation with intransitive verb often appears on verbs that indicate a change in appearance, particularly surface appearance.


   �. In its intransitive form, the verb aki obligatorily the directional prefix on-, apparently to avoid a monosyllabic verb stem in the perfective: ?o:ak.


   �. Note that the alternation with this verb is the same as with wa:ki and -wa:tsa, i.e., �ka ~ �tsa. However, verbs such as kukwalaka/kwakwalaka, called frequentatives are always derived from an intranstive that ends in -V:ni. Thus kukwalaka ~ kukwalatsa are derived from kwala:ni (as tsotsomoka ~ tsotsomotsa are derived from tsomo:ni, etc.).


   �. Note that the alternation -ti and -tia, as in pati (Am) / pátí (Oa) ‘to be cured,’ ‘to get better’ and patia (Am) / ´patiá (Oa) ‘to cure’ is best considered to be a pair of verbs derived from a nominal root {pah} ‘medicine/poison’ through two derivational or verbalizing endings, -ti and -tia.


   �. This use of a reflexive marker to decrease the valency of a transitive verb is called an anticausative alternation (it is essentially the inverse of the causative alternation). It is different than a passive formation in that there is no implied agent (i.e., it is a spontaneously occurring event).





